
 

6 suppose that flatly_flag Vx.geR Sawthat if
1 i assume to be continuous then fly e

Let geQ girls r see

Hq f E
flint flite t i i yfl's r m t.in

ft f s t film VmeIN
fl's s floy fa il Hilli il
fl's ft
flq fl's r Hill's flip

let flit e be arbitrary Then hegets c Q
fig fat cris Logar eco

The rationals on den in IRf F Tete tht
t continuous

On Q1 Icq e let g IR1112 x eef g ou Q1 g a continuous au Q isdna
in IR Think f g on R

Ethe ful th th n Ruda
orjustSth stahunt

Ex 4.4

Isininxll Ins.alxll am em i pe.ua Sts tht
Is.ua En s.nlxl1 fu e co it

Induction is Definitely th ng togo
It xeco.it th

n it obvious Is.uco its.ucol oeo s.ucx1

s.uli.xYs.ucxles.ucxl efs.ulx11s.ulnxY nls.nlxl1 s.n1axl ns.ulx O
T Suppone tht ls.ulk.cl ek s.ucxYoO Then

fly wts

tossed
H 1 11 Is.inkxtxllyaThfIpYwq.i.yEcoslkxls.nlxl t s.nlkxeoslxfin

cosix
fleosladledc Is.ua tls.nlkxYleosixl1e1co is decay or co an ax

Exc Is.uatklshHlioeut.uNeeos.nlxl x htt salat hypothesis

Away s H C x

If x In sulux nsaid
ax it sing a nx


